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General Instructions :

Read the following instructions very carefully and follow them :

(i) This Question Paper contains 35 questions. All questions are

compulsory.

(it) Question Paper is divided into FIVE sections — Section A, B, C, D

and E.

(iti) In section A — question number 1 to 18 are Multiple Choice (MCQ) type

questions carrying 1 mark each.

(iv) In section B - question number 19 to 25 are Very Short Answer (VSA)

type questions carrying 2 marks each.

(v) In section C - question number 26 to 30 are Short Answer (SA) type

questions carrying 3 marks each.

(vi) In section D - question number 31 & 32 are case-based questions carrying

4 marks each.

(vii) In section E — question number 33 to 35 are Long Answer (LA) questions

carrying 5 marks each.

(viit) There is no overall choice. However, an internal choice has been provided in

2 questions in Section B, 2 questions in Section C, 2 questions in Section D

and 2 questions in Section E.
(ix) Use of calculator is NOT allowed.

SECTION - A
1.  Auto oxidation of chloroform in air and sunlight produces a poisonous gas
known as
(a) Tear gas (b) Mustard gas
(c) Phosgene gas (d) Chlorine gas

2. Which of the following ligands is an ambidentate ligand ?
(a) CO () NO,
(0 NH, (d H,0
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Fr=fefaa o 9 forgept pKb AR S=aw 8 2

(a) (b)
(©) ()

qwaaﬁaﬁmﬁwmagmlog% R NPUIE G g

_tk

@ 3303 b) +k
_k
© 32303 @ -k

& D-Tephi|, HI o @1 31f¥fsha shar & at =g fiftfa s g

(a) ToIhIe 3TFA (b) n-gFH
(c) Hohiteh 377 (d) FATSRFA
fo=ma ® uftetm= g 2

(a) Sy2 arfufrn &

(b) Syl arfufsrn &

() Al Sy 2 H IRAE Sy 1 Awleran o
(d) Syl 3R Sy 2aMi srfulsransti #

fraferRaa o & foraehl gfig = @y 79 6 g o focrwar sedi 2 7
(2) < (b) dm
() I (d) focr gt 6t wEn
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3. Among the following, which has the highest value of pXb ? 1

(a) (b)
(c) (d)
. [R] : : o
4. The slope in the plot of log[T]0 vs. time for a first order reaction is 1
_tk
@ 3303 ®) +k
-k
© 3303 @ -k
5.  When D-glucose reacts with HI, it forms 1
(a) Gluconic acid (b) n-hexane
(¢) Saccharic acid (d) Jodohexane
6. Inversion of configuration occurs in 1

(a) Sy2 reaction
(b) Syl reaction
(¢ Neither Sy2 nor Sy1 reaction

(d) Sy1as well as Sy2 reaction

7.  Solubility of gas in liquid decreases with increase in 1
(a) Pressure (b) Temperature
(¢) Volume (d) Number of solute molecules
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8. fyafaRga # @ H w1 ey Toid & ?

() R:% @ (b) G:k@
© sz@ @ Am:%

9. UHRIGHN 3R S=hAH § favg & & fore fafafaa § @ o9 @ stfewrs ygw=
fopan St weRaT 8 7

(a) 2, 4-TTEATSLIhIA BTggsH (b) efm NaHSO,
(c) fei forerm (d) 1,3 NaOH

10. fr=fafaa sfufrsid @ e fava g 2
(2) CH,CH,Br+ Na*O-C (CH,), > CH,CH, — O — C (CH,),
(b) (CH,), C— Cl+Na* O~ CH,CH , - CH,CH, - O — C (CH,),
(© (a) 3N (b) Ml
(d) T (a) INAE (b)

11. Fr=faRea fieni # & @ a7 NaOH faerm i sufeufa & @ -ge sam 2
(@) C4H,CHO () CH,CH,CHO
(¢ (CHy,C—CHO d H-CHO

12, b 3A - 2B % frg, sififen am - S e g

3 d[B 2 d[B
® % ® %

d[B d[B
© 5 ‘a @ 5
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8.  Which of the following relations is incorrect ? 1

(a) R=% @ () G:k@
© sz@ ) Am:%

9. The reagent that can be used to distinguish acetophenone and

benzophenone is 1
(a) 2, 4-dinitrophenyl hydrazine (b) aqueous NaHSO,

(¢) Fehling solution (d) I, and NaOH

10. Which of the following reactions are feasible ? 1
(a) CH4CH,Br + Na™ O-C(CH,); - CH;CH,-O — C (CH;),
() (CH,); C-Cl+Na" O CH,CH ;- CH,;CH, - O - C(CH,),
(c) Both (a) and (b)
(d) Neither (a) nor (b)

11. Which of the following compounds will undergo self-condensation in the

presence of dilute NaOH solution ? 1
(a) C,H,CHO (b) CH4CH,CHO
(¢ (CHy;C-CHO (d) H-CHO
d[A
12. For the reaction 3A — 2B, rate of reaction — J(El 1s equal to 1
+3 d[B] +2 d[B]
@ 5 g ®) 3 g
+1 d[B] +1 d[B]
© 73 g @ g
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13. fr=ferfaa shmor amgat § @ i +1 3T +2 SAaefientor sraemd yeftd it 8 ?

(8 Mn (b) Zn
() Sc (d Cu

14. % A (1) zeamamsHEree (1) 1§ ¢ :
(a) Fe, [Fe(CN)]; (b) Fe, [Fe(CN)gl,
(¢) Fe [Fe(CN),] (d Fe, [Fe(CN)l,

TR (A) 3 RO (R) ¥ 3Afha 9 & sed few mu & | Ffefaa fasea o @
T ITFF IR 1 I I -

(a) (A) 3 (R) TH1 T & a1 (R), (A) 61 Tt R 2 |

(b) (A) IR (R) eHi &7 &, wAferd (R), (A) hl & =men 181 2 |

(€ (A) T, difehd (R) 38 2 |

(d) (A) IEA R, Al (R) T 7 |

15. AR (A) : T TG e o T st a9 31 TOedt Ay H S o SRR
2| 1
SR (R) : T AT foerem & foru foerr-faer st foetreres-foemmere 3yt & nen
IR T G B forear-foemaes st & wer sr==afshand Tefed B!
g

16. B (A) : Higal § gfg o €1 WIeR FTetshd! T 2 |
SR (R) : 919 Tigdl I 1 3TN Tga- STt & T& HIeR =TeTehd] HHT TR ATerehdl
HEAT B |

17. RheA (A) : ThUUT GTqE SATRASH o |1 39T I=aq ST TaedTd et
A E |
SHRUT (R) : GG o A1 SATeRAISH Shi &g STTEY S hT &19dT & |
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13.

14.

15.

16.

17.

56/2/3 {9 > P.T.O.

Which of the following transition metals shows + 1 and + 2 oxidation

states ?
() Mn (b) Zn
(0 Sc (d Cu

The formula of the complex Iron (III) hexacyanidoferrate (II) is :
(a) Fe, [Fe(CN)4lg (b) Fe, [Fe(CN)4l,
(c) Fe [Fe(CN)g4] (d) Feg [Fe(CN)gl,

Given below are two statements labelled as Assertion (A) and Reason (R).
Select the most appropriate answer from the options given below :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

(¢) (A) 1is true, but (R) is false.

(d) (A) 1sfalse, but (R) is true.

Assertion (A) : The enthalpy of mixing A . H is equal to zero for an ideal
solution.

Reason (R) : For an ideal solution the interaction between solute and
solvent molecules is stronger than the interactions between solute-
solute or solvent-solvent molecules.

Assertion (A) : Molar conductivity decreases with increase in
concentration.
Reason (R) : When concentration approaches zero, the molar

conductivity is known as limiting molar conductivity.

Assertion (A) : Transition metals show their highest oxidation state with
oxygen.

Reason (R) : The ability of oxygen to form multiple bonds to metals.



18.

19.

20.

21.

22.

23.

HANHET (A) : H&T q9 T, AR Tfaeemas Sfuferanat o ot setrissia i
B2 | 1
R (R) : 3T o R0 C—Cl 7Y Mk gt 81 A1 2 |

g - g
qFreieh 3T 1 & ? i DNA ¥ 61 T TeheH &l 814 &, Tifeh Teh-Ga & I &
82 1x2
TFrafaiga sur=ater srfereran g = # $ifse 2x1

(2) CH,COOH & CH,COCH,

(b) q

Trafafaa stfufsranett #@ aftrfaa vemafies g fafen 2x1
() TEM-Au= rferfsman
(b) affafers s o1 Hifeem

(a) 3] A% BT ®U=wRol fgdta Sife i sertiaehl % 387 gt ® | afe A 6t @igar
o T SR € SITe At B <k fmien E1H o S O S ST ae 2 2x1

(b) T ICTELT Gled SeH YW hife 3rhfspa ht uftums farRaw |

25 °C R g 59 X 3T g 59 Y & 9157 ¢& HA: 120 mm Hg 37 160 mm Hg £ |
Ife X 3R Y & 9™ Al bl fHeATeRt Teh T3l foretae s Siran 8, af foetas 1 arsy
T TehicTd HIfT | 2
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18.

19.

20.

21.

22.

23.

Assertion (A) : Chlorobenzene is resistant to nucleophilic substitution

reaction at room temperature. 1

Reason (R) : C—C/ bond gets weaker due to resonance.

SECTION - B
What are nucleic acids ? Why two strands in DNA are not identical but
are complementary ? 1x2
Do the following conversions in not more than two steps : 2x1

(a) CH,COOH to CH,COCH,

(b)

Write the chemical equation involved in the following reactions : 2x1
(a) Reimer-Tiemann reaction

(b) Acetylation of Salicylic acid

(a) The conversion of molecule A to B followed second order kinetics. If
concentration of A increased to three times, how will it affect the rate

of formation of B ? 2x1

(b) Define Pseudo first order reaction with an example.

The vapour pressure of pure liquid X and pure liquid Y at 25 °C are 120
mm Hg and 160 mm Hg respectively. If equal moles of X and Y are mixed

to form an ideal solution, calculate the vapour pressure of the solution. 2

56/2/3 {1 > P.T.O.



24. (a)

(b)

25. (a)

(b)

HIT ST : 2x1
() TRE I 3 Tyut R srafy § fer fave yem s g |
(i) AT ATeTehedl o TR Fafor § foy g (DC) wged & ht et
=l
e
Teh ITE0 Al $u Wt i Ty Hifere | smerfires 3 d=merss Sefat S g
T 39 A & AT AT § ? 2

frefafiad o a8 3 dt © =t 7w ferfa - 2x1
(@ [Co(NHy);(ONO)**
(i) K,[NiCl,]
EEC)
(i) hIcic Tl T § ? Teh ISTELY T |
(i) FHAEH Teped 1 & ? Teh 3Tl AT | 2x1

Qug - T

26. TefaRad 4 | fopeal i o IR G : 3x1

(a)

(b)

(c)
(d)

56/2/3

CH,, 1 I |1 qHTaed Il GO 1 U § Tohel AH@ART Atfes C,HyCl
g ?

frfaRaa Afiepl 1 Sy 2 AMHlHN % Uid Sedl 3 AMRRicar % %H H
AT HITT :

2SI, 1-SHIU=H, 2-5HI-2-Hieege

AT qAT HeT-THTEATTT shi STUT - STEFARS T T TeTTh I 1 Bl & ?
freferfiea & A 3TR B &1 ug=rH hife :

H,O
Mg > A 2 > B
[k TAT

ez




24. (a)

Give reasons : 2x1

(1) Mercury cell delivers a constant potential during its life time.

(11) In the experimental determination of electrolytic conductance,
Direct Current (DC) is not used.

OR

(b) Define fuel cell with an example. What advantages do the fuel cells
have over primary and secondary batteries ? 2
25. (a) Write the IUPAC names of the following : 2x1
@ [Co(NH,);(ONO)J**
(i) K,[NiCl,]
OR
(b) (1) What is a chelate complex ? Give one example.
(11)) What are heteroleptic complexes ? Give one example. 2x1
SECTION - C
26. Answer any 3 of the following : 3x1
(a) Which isomer of C H,, gives a single monochloro compound C HyCl

(b)

(©

(d)

56/2/3

in bright sunlight ?

Arrange the following compounds in increasing order of reactivity
towards Sy 2 reaction :

2-Bromopentane, 1-Bromopentane, 2-Bromo-2-methylbutane

Why p-dichlorobenzene has higher melting point than those of ortho-

and meta-isomers ?

Identify A and B in the following :

H,O
Mg ;A 2
Dry ether

{13 > P.T.O.
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27. (a) (1) T=faRaa sifufern & wrifafy fafae 2+1

H+
2CH,CH,OH — 2z CH, — CH, — O — CH, — CH, + H,0

(i) o SATAT-TZIBIATA WG G TSI Bt & Sfeiteh HI-ATSeIhITe el ?
e
(b) T EIATR A 3x1
() uFEE H CH,CURSA AICI, < e Sifufsman i St 2 7
(ii) TS T Na,Cr,0,/H" gry siferfietor foha smar 2 7
(iii) (CHy); C— OH ®I 573 KW Cu  H1¢ TH foRAT 11 8 ?
7Y IR o THA T T Tiehr faRau |

28. (a) [Co(en),Cl,]** = ST THTERIE G | [Co(en),Cly] 2+ T SiF |1 AT
HHTI YT 0Tk Tl & S i 2 2+1
(b)  [CoF ]~ 1 Hehtu T Frsehtdl SHere feifia |
[fe=m 2 : Co =T TRHTY] ShHTh = 27]

29. T YoM hife hl IR T 50% o1 &H H 300 K W 30 e &1d 8 3R 320 K™
10 e e0Td @ | SAfferan < fore |isharmt 3t (E,) TRehierd i |

[R = 8.314 JKmol ] 3
[fea @ : log 2 = 0.3010, log 3 = 0.4771, log 4 = 0.6021]

30. F - CH, — COOH (dIeR 3&99M = 78 g mol™!) % 19.5 g &I 500 g St H HleH T
femteh § 1°C %1 3fewHA ¢@1 ™1 | F — CH, — COOH % foTu ferisH—#m uftehferd
T |
[fea & - 71 & fo7w K, = 1.86 K kg mol-1]. 3

56/2/3



(1) Write the mechanism of the following reaction : 2+1
H+
2CH,CH,OH VST O CH; - CH,-0-CH, - CH;+ H,0

(i1)) Why ortho-nitrophenol is steam volatile while para-nitrophenol is

not ?
OR
What happens when
(i)  Anisole is treated with CH4Cl/anhydrous AICl, ? 3x1

(ii) Phenol is oxidised with Na,Cr,0./H* ?
(iii) (CHy), C — OH is heated with Cu/573 K ?

Write chemical equation in support of your answer.

Draw the geometrical isomers of [Co(en)2Clz]2+. Which geometrical

1somer of [Co(en)zCl2]2+ 1s not optically active and why ? 2+1
Write the hybridisation and magnetic behaviour of [CoFg]3~.

[Given : Atomic number of Co = 27]

A first order reaction is 50% complete in 30 minutes at 300 K and in

10 minutes at 320 K. Calculate activation energy (E,) for the reaction.

[R =8.314 J K mol] 3

[Given : log 2 =0.3010, log 3 =0.4771, log 4 = 0.6021]

When 19.5 g of F — CH,, — COOH (Molar mass =78 g mol 1), is dissolved in

500 g of water, the depression in freezing point is observed to be 1°C.
Calculate the degree of dissociation of F — CH, — COOH.

[Given : K, for water = 1.86 K kg mol™!] 3

27. (a)
(b)

28. (a)
(b)

29.

30.

56/2/3
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TwE -|
freferfiad wem, o i s 8 | 3ese S aeurigEs gfer 3 fou T e
I T

31. WhIEA i U HTaEfisH hl foe[d-ROTHSAT 3= B o DRV HleH-Aaee fgh
ey Tfeggigel 3 HEH § gfed 81 S R | 37d: 9 3 ARERUiE 38 HCN,
NaHSO,, Teeieiel, it o= 3R f=m sifieptent & @ el aems
HAfHfoRaTd <4 & | HIHT hl sruen Uesarss Hg aEier sifierdsl g JmEH |
HAleishd & Jd & | Hrelfeaicis 3T &1 hEi-e g Ufceargel 3R hlHl
srfurfsramd 7 <o 2 | Sraifadfere 3T Yeehigian U Tt 31fd TXat HHTe & !
Jifereh I B § |
Freaferfaa gt & 3w G
(a) S T Ulceaiss I HCI i sufeufa # Ueenigial s 3o & @y srhfsean

LT 2 a1 FHfa 3care 1 am fafee | 1
(b) TS St g H HIiferafcTh 37T 7T Jaet 317 9l BT 8 ? 1
© () T=fafea et w1 CH MgBr % ¥fd 37! stfufsrameficrar & sgd #u 1

TR hHITVT ;
CH,CHO, (CH,),C - C — CH,, CH, - C — CH,

| I
0 0)

(i) YA 3R IUAE § frdie s o fote vamrtes wdiemr fefey | 2x1
YT
(c) Tr=ferRaa # g 3care ferfem

[Ag(NH,),]*
@) N

H,NCONHNH,
(ii) > 2x1
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SECTION -D

The following questions are case based questions. Read the passage
carefully and answer the questions that follow :

31. The carbon — oxygen double bond is polarised in aldehydes and ketones
due to higher electronegativity of oxygen relative to carbon. Therefore
they wundergo nucleophilic addition reactions with a number of

nucleophiles such as HCN, NaHSO,, alcohols, ammonia derivatives and

Grignard reagents. Aldehydes are easily oxidised by mild oxidising agents
as compared to ketones. The carbonyl group of carboxylic acid does not
give reactions of aldehydes and ketones. Carboxylic acids are considerably
more acidic than alcohols and most of simple phenols.

Answer the following :

(a) Write the name of the product when an aldehyde reacts with excess
alcohol in presence of dry HCI. 1

(b) Why carboxylic acid is a stronger acid than phenol ? 1

(¢) (1) Arrange the following compounds in increasing order of their
reactivity towards CH;MgBr :

CH,CHO, (CH,),C — C — CH,, CH, — C — CH,
|| [
0 0

(1) Write a chemical test to distinguish between propanal and

propanone. 2x1
OR
(¢) Write the main product in the following :

[Ag(NH,),]*
@) N

H,NCONHNH,
(ii) > 2x1

56/2/3 {11 > P.T.O.




32. FETEEE, YAV YUIH Ucease 3 HOH AW F | 3% GFse ft wad & | W af
HTETRTESE! ! ST it feta aen 2iom 31iyertish o1 31afad L & &, Ta=r e
hEd & | TR, NI foh LTI & foTu SHetl o1 W@ €1 &, WId o SASTIee o 3
BT 8 | TIeifim SR § sravas Temee WIsasie & | WA oV 37l & 95eTh ©
3R Sfraenfeat & fafi= gwemTere v i frnatt 1 aufed e 8 | foerfimi 6 st @
3R TR A |

ferferfaa & e difs
(a) T T URTUEE, ETegIfaaeura o @ rfufran 7€ a1 & | I+ 3
HAT g ? 1
(b) Tererfim C =1 gaR wiR o i =i T2 foman < wpar 2 2 1
(c) WM & gafa feforfiad shi wftam forfae
() UerEE ey
(ii) ferepdtento 2x1
JepE
(c) retersed & Hefera freferfaa shr afvurs fafe -
(i) T
(i) TATEHITGSH a9 2x1
Qg - g
33. (a) () wrudNe: 3+2

() Tty TN g soegRen Sfaeerm stfufmnst § sml we T
frderen e & it oft et rsdientor gru ade wen § dersgufet
<A |

(ii) it foetsm o (CH,),N 1 31ver (CH,), NH it arehi gt @ |

(iii) Ufeenet Belrgel i FFHHI-31TEH T Tl WA & fawem o forg
Iredt fafu i 7 |

56/2/3



32. Carbohydrates are optically active polyhydroxy aldehydes and ketones.

They are also called saccharides. All those carbohydrates which reduce

Fehling’s solution and Tollen’s reagent are referred to as reducing sugars.

Glucose, the most important source of energy for mammals, is obtained by

the hydrolysis of starch. Vitamins are accessory food factors required in

the diet. Proteins are the polymers of a-amino acids and perform various

structural and dynamic functions in the organisms. Deficiency of vitamins

leads to many diseases.

Answer the following :

(a)

(b)

(c)

(©

33. (a)

56/2/3

The penta-acetate of glucose does not react with Hydroxylamine.

What does it indicate ?

Why cannot vitamin C be stored in our body ?
Define the following as related to proteins :
(1) Peptide linkage

(11) Denaturation

OR

Define the following as related to carbohydrates :

(1) Anomers

(i) Glycosidic linkage

SECTION - E

(I) Give reasons :

2x1

2x1

3+ 2

(1) Aniline on nitration gives good amount of m-nitroaniline,

though — NH, group is o/p directing in electrophilic

substitution reactions.

(i) (CHg), NH is more basic than (CH3)sN in an aqueous

solution.

(111) Ammonolysis of alkyl halides is not a good method to

prepare pure primary amines.

P.T.O.



A1) Freferfaa o aftrfera stiirfsran fefan
() hifeer Wi ghetor
(i) Afsue Aferarge geavo

JAYaT
®b) () TF=fafes sfafrnatig A, B 3t C 6 e fofan 3+1+1
H,O/H* NH
@) SV LA Wi SNy
A
NaNO,+HC! C,H.OH
i) Fe/HCI S 2 . B 2115 . C
273 K

D) Ufreha whrge-shrees srffsran s & ¢t 8 2
(111 fr=faRad sl 37k FaUATHI & dgd HH T G hHIfT :

C,H,OH, C,H,NH,, (C,H,),N

34. (a) 2 x 1073 M AATgh A <hl TTeTehdT 8 x 1075 S cm~! B | Afe AYHTSH 37+
feTT A0 1 7 404 S cm?mol ! 8 Tl S&eh! HITR HTeTehal Td feriom — AEM
qfehfera shifeie | 3+2

(b) 298 K W& g3 A1 o T A G° 3TR log K, Tehfcrd sHiTT -
Ni(s) + 2Ag+(a 9 \_—\Ni2+(a o7 2Ag(s)

fe 2 : Boyzey, =—0.25 V, EQ 1)y, = +0.80 V

1F = 96500 C mol1L.
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(II) Write the reaction involved in the following :

(b)

34. (a)
(b)
56/2/3

@)
(i)

@

uy

Carbyl amine test
Gabriel phthalimide synthesis
OR

Write the structures of A, B and C in the following reactions :3 +1 + 1

H,O/H* NH
Q) NiCr CulN 277 g AB s C

NaNO,+HCI C,H.OH
i) Fe/HCI JA 2 . B 2115 . C
273 K

Why aniline does not undergo Friedal-Crafts reaction ?

(IIT) Arrange the following in increasing order of their boiling point :

C,H,OH, C,H,NH,, (C,H,),N

Conductivity of 2 x 1072 M methanoic acid is 8 x 10 S cm™L.

Calculate its molar conductivity and degree of dissociation if /\I(;1 for

methanoic acid is 404 S em?mol1L. 3+2

Calculate the A G° and log K for the given reaction at 298 K :

. -2
Nig) + 248" g ==Ni*") + 248

1F =

96500 C mol1L.

<D P.T.O.



35. (a) () T=faRad s oo difve: 3+2

(i) Mn3"/ Mn2* g9 & fau Ee &1 79 Cr3t/ Cr2* & 9H € s5q 3114
AT BT 8 |

(i) el foerm § Sc3 T g Jafe Tis*t afiA g |
(iii) Ufderag SAfaientor STaeensii o1 foeqd TtE Tehid #d & |
) MnO, & KMnO, % o= o forg temafes aefter fafian |
31
M) () TF=faRaa s wro faRae: 2+2+1
(i)  EshHor gy frsmgd s § |
(i) Ce?" Ueh UsieT HiaeliehTeh 2 |
(1) SATIEST IR Ufeeias! & WA § Ush THFAT 3T Ush 3T fagu |
(A1) fr=ferfaa smaftes aefiertor st qut Hifve
Cr,07 + 20H —
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35. (a) (I) Account for the following : 3+2

(i) E°value for Mn®*/ Mn2* couple is much more positive than
that for Cr3*/ Cr2*.

(il) Sc3* is colourless whereas Ti?' is coloured in an aqueous
solution.

(111) Actinoids show wide range of oxidation states.

(II) Write the chemical equations for the preparation of KMnO,
from MnO,,.

OR
(b) (I) Account for the following : 2+2+1
(1) Transition metals form alloys.
(i1)) Ce**is a strong oxidising agent.

(II) Write one similarity and one difference between chemistry of
Lanthanoids and Actinoids.

(IIT) Complete the following ionic equation :

Cr,02 + 20H —

56/2/3 @
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